1.

489 7 2L A5 Foto] of@ Q5] Ago] WA sl Gt ol

Fotolor @ 14 2



Mg g 8es 88 ese
HMEEEEEEIEEEE
O | S %0 S| | W ST ok |or OH
=M <F 80| |< oo & WH ol
=X &

—_— ﬂ/:.A D.__u
X 0o oz

H % N ™
R WH X ol
oG o O Mo
5 o S 5
_— o Nfo O
~ .O_D ! ,U\_._ D.__v JW_
5 z ° o, OF
ar I IO ol B
I " T ! R
A N N
a R N 5w n
o hy H HA P "T ' g
TS M OB oo
i fl m_ Ko = AH 5 oA H
_n_n_ ° _.L \H._ ﬂﬂ ,:Dl DE _uE 7.._
o m% " X A X ~ KN
THmL © 0 © @ @




= A x|z 5 O] i}, {z|z= 75 o] oF4=} of disto] ok ®

A= { B =
trolol 1o ek u), A AE Fo] sjgeh €47t o ALY

A B

@ 5 @ 10 ® 15 @ 25 ® 75



A

ot

<2
25

o
Mo
o

% B 1297 (35 27)

O n({2}) <n({3})

@ A={1, 2, 3}, B={1, 2} °|H n(A4) —n(B) =3 °o|t}.
® n(A)=00°" A= ot}

@ n({50}) — n ({40}) = 10

® A={z|2E89 %}, B={r|ase 92t & &5} o n(4) =
n(B) o]t}



FAF A BAUSI] AC B, BC AT A= {z|a2E89F}, B =
{1’ a—2, a, G/XQ} O]E}-.a-ql %I—ioi '?_6-]—0:13}.



® ACB°|H AUB=B

® ANB=BUA

@ (AuB)Cc A



o —

={z | z& 12 o] 18
X 9 g oot







9. Al "3t A B, C ol Hste] n(A) =

15, n(B) =8, n(C) =7, n(ANB) =
3, ANC=2,nBnN C)=3 < d, n(

AUBUQ) ¢ 3t Fotofet



10. F AT A={3,a+1,9}, B={a—1,a,a+3}°] tiste] A - B = {5,9} < o,
a9l 3= otoizt,



Tor



12.

o ox X

I

H

A

o o

ot
St A =

P
st

{p17p27p37 o

{3,6,9,12} o ZEHS
2) + (Ag) 4+ f(A16) 94 %}\_% —?5]—0:],1]—

-,pn} ol HSk] f(P) =p1 +p2 +ps+ -+ py Ol

A17A27A37"' aAIG O]E} —52_ [lﬂ, f(Al) +



=12, 4, 6, 8, 10}, B={2, 4, 8} thol] X—A = &, n(XNB) =
st= A X 9 W4 Fotoiet



14. AAFET U = {1, 2, 3, 4, 5} o T FEAF A, B o disto] A = {1, 3, 5}
ol ANB# o & W, ¥ B °f s Foteieh



< A
. ]
¢ =4
T
OB ey
0 X A_l H;l
oo B
_#O_E 11_._1 N ,,__NOE
g
=) uru._o < o
Voo B
) moo 5
E+iFe
L&
{{]L
__LMDF I om_u
OO W

15.

5% Fotolet.

o] 7



